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EPCISEvent

eventTime : Time
recordTime : Time

eventTimeZoneOffset : string
<<extension point >>

ObjectEvent

epcList:List<EPC>
action:Action

bizStep:BizStepID
disposition :DispositionID

readPoint:ReadPointID
bizLocation :BizLocationID

<<extension point >>

AggregationEvent

parentID :URI
childEPCs :List<EPC>

action:Action
bizStep:BizStepID

disposition:DispositionID
readPoint:ReadPointID

bizLocation:BizLocationID
<<extension point >>

QuantityEvent

epcClass :EPCClass
Quantity:int

bizStep:BizStepID
disposition:DispositionID

readPoint:ReadPointID
bizLocation:BizLocationID

<<extension point >>

TransactionEvent

parentID:URI
EPCs:List<EPC>
action:Action

epcClass:EPCClass
bizStep:BizStepID

disposition:DispositionID
readPoint:ReadPointID

bizLocation:BizLocationID
<<extension point >>

BizTransaction

Type :BizTransTypeID
bizTrans :BizTransID

bizTransList   
one or more

bizTransList  
zero or more

bizTransList   zero or more

bizTransList  
zero or more



EPCISEvent

PK eventID

eventTime
recordTime

ObjectEvent

PK,FK1 eventID

epcList
action

AggregationEvent

PK,FK1 eventID

parentID
childEPCs
action

QuantityEvent

PK,FK1 eventID

epcClass
quantity

TransactionEvent

PK,FK1 eventID

parentID
action
epcClass

<AggregationEvent>

<eventTime >2013-01-25T03:51:00Z</eventTime>

<recordTime>2013-01-25T09:30:47.0Z</recordTime >

<parentID> urn:epc:id:sscc:0614141.0000000001</parentID>

<childEPCs >

<epc>urn :epc:id:sgtin:0614141.107340.1</epc>

<epc>urn:epc:id:sgtin:0614141.107340.2</epc>

<epc>urn:epc:id:sgtin:0614141.107340.3</epc>

<epc>urn :epc:id:sgtin:0614141.107340.4</epc>

<epc>urn:epc:id:sgtin:0614141.107340.5</epc>

</childEPCs> 

<action>ADD</action>

<bizStep>urn:epcglobal:hls:bizstep:casetopalletaggregation</bizStep>

<disposition>urn:epcglobal:hls:disp:active</disposition>

<readPoint >

<id>urn: epcglobal:fmcg:loc :0614141073467.RP-2</id>

</readPoint>

<bizLocation>

<id>urn: epcglobal:fmcg:loc :0614141073467.3</id>

</bizLocation>

<bizTransactionList>

<bizTransaction type =“urn:epcglobal:fmcg:btt:pack"> 

urn:epcglobal:fmcg:bti:pack:0614141073468.2</bizTransaction>

</bizTransactionList >

<hls:temperature>22</hls:temperature>

</AggregationEvent>

(a)



<AggregationEvent>

<eventTime>2013-01-25T03:51:00Z</eventTime>

<recordTime>2013-01-25T09:30:47.0Z</recordTime>

<parentID>urn:epc:id:sscc:0614141.0000000001</parentID>

<childEPCs>

<epc>urn:epc:id:sgtin:0614141.107340.1</epc>

<epc>urn:epc:id:sgtin:0614141.107340.2</epc>

<epc>urn:epc:id:sgtin:0614141.107340.3</epc>

<epc>urn:epc:id:sgtin:0614141.107340.4</epc>

<epc>urn:epc:id:sgtin:0614141.107340.5</epc>

</childEPCs> 

<action>ADD</action>

<bizStep>urn:epcglobal:hls:bizstep:casetopalletaggregation</bizStep>

<disposition>urn:epcglobal:hls:disp:active</disposition>

<readPoint>

<id>urn:epcglobal:fmcg:loc:0614141073467.RP-2</id>

</readPoint>

<bizLocation>

<id>urn:epcglobal:fmcg:loc:0614141073467.3</id>

</bizLocation>

<bizTransactionList>

<bizTransaction type=“urn:epcglobal:fmcg:btt:pack"> 

urn:epcglobal:fmcg:bti:pack:0614141073468.2</bizTransaction>

</bizTransactionList>

<hls:temperature>22</hls:temperature>

</AggregationEvent>

(b)



1. traceEPC(targetEPC)

2. action := {add, delete, observe}

3. //query to all event list related to targetEPC

4. //EPCIS SimpleQueryParameters are MATCH_epc, MATCH_parentID.

5. traceList := queryAllEvents (targetEPC)

6. if(traceList != null)

7. // extract Aggregation Events includes targetEPC as children .

8. aggEvents = extractAgg(traceList )

9. if(aggEvents .length > 0 )

10. for  each parentID in aggEvents

11. case 1: a parentID is only aggregated to the targetEPC

traceList = traceList U addTrace (aggEvent? action.add)

recur traceEPC (parentId )

12. case 2: a parentID is only disaggregated to the targetEPC

13. traceList = traceList U deletionTrace (aggEvent? action .add)

recur traceEPC(parentID)

14. case 3: a parentID is aggregated and disaggregated to the targetEPC

15. traceList = traceList U addANDdeletionTrace(aggEvent? action.add     ? action.delete)

16. recur traceEPC(parentID)

17. case 4: a parentID == null

18. return traceList

19. else if(traceList == null)

20. return traceList

addTrace(aggEvent)

1: // query to all event list related to parentID after the aggregation time

2: // EPCIS SimpleQueryParameters are MATCH _epc, GE_eventTime.

3: traceList =  traceList ? queryAllEvents(aggEventparentID,aggEventeventtime)

4: return traceList

(d)

(c)



deletionTrace( aggEvent)

1:// query to all event list related to parentID before the aggregation time

2: // EPCIS SimpleQueryParameters are MATCH_epc, LT_eventTime.

3: traceList = traceList U queryAllEvents ( aggEventparentID,aggEventeventtime)

4: return traceList

addANDdeletoinTrace(aggEvent1, aggEvent2)

1: // query to all event list related to parentID before the aggregation time

2: // EPCIS SimpleQueryParameters are MATCH_epc, GE_eventTime, LT_eventTime.

3: traceList = traceList U queryAllEvents (aggEvent1parentID, aggEvent1eventtime, aggEvent2eventtime)

4: return traceList

(e)

(f)




	ITJ.pdf
	Page 1


